< [k, 6B =5 5ip SN E 4 b
4 - v

321 x 30% = 1.24 x 30% =

0.6 x 40% = 6.78 x 70% =

1.06 x 60% = 7.99 x 20% =

9.71 x 60% = 2.8 X 90% =

1.56 x 90% = 1.59 x 10% =

2.53 x 30% = 4.96 x 90% =

5.07 x 70% = 7.13 % 30% =

9.72 x 90% = 8.83 x 70% =

0.95 x 30% = 7.23 % 40% =

6.4 x 30% = 6.04 x 60% =
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B Ly, 5B L 65%

A/ NEUR A 0 b

G

3.21 x 30% = 0.963

0.6 x 40% = 0.24

1.06 x 60% = 0.636

9.71 x 60% = 5.826

1.56 x 90% = 1.404

2.53 x30% = 0.759

5.07 x70% = 3.549

9.72 x 90% = 8.748

0.95 x 30% = 0.285

6.4 x30% = 1.92

H -

1.24 x 30% = 0.372

6.78 x70% = 4.746

7.99 x 20% = 1.598

2.8 x90% = 2.52

1.59 x10% = 0.159

4.96 x 90% = 4.464

7.13 x30% = 2.139

8.83 x 70% = 6.181

7.23 x 40% = 2.892

6.04 x 60% = 3.624
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